
John Deere Idler Gear Assembly
30-8

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2025



Item Part OEMPart DescQty

John Deere Idler Gear Assembly 30-8

O-RING - (9965) UPPER IDLER BRGB3690R03690P1 1

LUBE FITTING - 1/8"JD775907759P2 1

NUT - 3/4 UNF - NYLON LOCK (ALL MODELS 9900-9965) REPLACES H34753N101345013453 1

BALL BEARING - TOP IDLER GEAR (9900-9965)JD714207142P4 1

WASHER - IDLER GEAR SPRING WASHER (9900-9965)N110133101335 1

SPRING - (.244 WIRE) 5 COIL (9900-CP770)N131738317386 1

SPUR GEAR - 23T, IDLER-GROUND DRIVE (9960) - INCLUDES #01713P BUSHINGAN193393933937 1

BUSHING - (9900-9965)L1713C01713P8 NA

SLIP CLUTCH - R.H.(SOLD IN PAIRS ONLY) (9900-CP770 IDLER GEAR APPLICATION)N190954909549.1 1

SLIP CLUTCH - L.H. (SOLD IN PAIRS ONLY) (9910-9965 CONV. IDLER GEAR 

APPLICATION)

N190955909559.2 1

GEAR - IDLER (9900-9950 CONV.)AN11012410124G10.1 1

GEAR - IDLER (9935, 9960-9965 IN-LINE)AN2722857228510.2 1

BALL BEARING - BOTTOM IDLER GEAR (9900-9965)JD932409324P11 1

STEEL HOUSING - LOWER IDLER GEAR (9960-9965 IN-LINE), MACHINED FROM 

STEEL, SUBS OEM ALUMINUM STYLE ( INCLUDES 1x #13: #40708P) (ILL.)

N1990639906312.1 1

HOUSING - LOWER IDLER GEAR (9900-9950 CONV.), MACHINED FROM STEELN1101371013712.2 1

O-RING - (LOWER HOUSING: 9960-65 IN-LINE, UPPER HOUSING: 9935-CP770 PRO)U4070840708P13 1

STEEL HOUSING - UPPER IDLER (9935, 9970-CP770 PRO)N3717377173714 1

NUT - M20 - NYLON LOCK (9935, 9970-CP770 PRO)N27503375033P15 1

BALL BEARING - UPPER IDLER (9935, 9970-CP770 PRO)JD932109321P16 1

WASHER - IDLER GEAR SPRING WASHER (9970-CP770 PRO)N2784017840117 1

SPUR GEAR - 25T, IDLER-GROUND DRIVE (9970-CP690 PRO)AN2734687346818 NA

DRIVE SHAFT - HEX - IDLER GEAR (9935, 9970-CP770 PRO)N2762917629119 1

GEAR - IDLER - 12 BAR, (9935, 9970-CP770 PRO) - (REPLACES OEM 

PARTS:#N274017, #N276291, & #N274013) INCLUDES 1x #75033P BOTTOM NUT

N2740177401720.1 1

GEAR - IDLER - 16 BAR, (9976-CP770) - (REPLACES OEM PARTS:#N274016, 

#N276291, & #N274013) INCLUDES 1x #75033P BOTTOM NUT

N2740167401620.2 1

BEARING - UPPER DOFFER (9900-CP770) / PRO LOWER IDLERJD946709467P21 1

O-RING - LOWER IDLER (9935, 9970-CP770 PRO)M4351843518P22 1

STEEL HOUSING - LOWER IDLER (9935, 9970-CP770 PRO)N3717367173623 1

BOLT  - M10 X 20 - SERR HEX FLANGE - GD 8 - NOT THREAD FORMINGN27562075620P24 1

BOLT  - M10 X 25 - SMOOTH HEX FLANGE19M778507785P25 1

NUT - M10 - SERR HEX FLANGEE6352663526P26 1

SPRING - COMPRESSION - (.50 WIRE) 4 COIL - LOWER GEAR CASE HUBN1969609696027 1

JD - SLIP CLUTCH (SOLD IN PAIRS ONLY) LOWER GEAR CASE = ALL 9935, 9960 - 

CP770: CONV, IN-LINE & PRO UNITS, UNIT DRIVE = 9910 - 9950 , ( 1x AN274314 = 

2x N199180 )

AN2743147431428 1

CAP - UPPER IDLER GEAR BEARING HOUSINGN27832378323P29 1

O-RING - UPPER IDLER HOUSING CAP SEALT7785877858P30 1

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2025


